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[3904]-101

M.A. (Part I) (First Semester) EXAMINATION, 2011

ECONOMICS

EC–101 : Micro-Economic Analysis—I

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words each (any one) : [20]

(1) What is meant by scarcity ? “Scarcity is mother of all economic

problems.” Discuss.

(2) Explain the concept of ‘Indifference curve’. Discuss the properties

of Indifference curve.

2. Answer the following questions in 500 words each (any one) : [20]

(1) What is price elasticity of demand ? Explain the various methods

to measure the price elasticity of demand with suitable examples.

(2) State and explain Law of Variable Proportion. Discuss its

short-comings.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the concept of average and marginal cost with the

help of curve and suitable examples. Discuss the relationship

between average and marginal cost.

P.T.O.
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(2) What are average, marginal and total revenue ? Explain these

concepts with the help of curves and suitable numerical examples.

(3) What is Isoquants ? Discuss the properties of Isoquants.

(4) State and explain the Armstrong’s marginal preference theory.

4. Write short notes in 100 words each (any four) : [20]

(1) Limitations of Micro-Economics

(2) Dynamic economics

(3) Law of Demand

(4) Consumer’s surplus

(5) Opportunity cost

(6) Linear Homogeneous production function.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) ^nqfeZˇrk* Eg.kts dk; \ ^^nqfeZˇrk gh loZ vkfFkZd izðukaph tuuh gks;- **

ppkZ djk-

(2) ^leo`Ÿkh oÿ* gh ladYiuk Li"V djk- leo`Ÿkh oÿkP;k xq.k/kek±ph ppkZ

djk-
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2. [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) ekx.khph fdaer «ofpdrk Eg.kts dk; \ ekx.khph fdaer «ofpdrk ekst.;kP;k

fofo/k iºrh ;ksX; mnkgj.kkP;k lkgk∏;kus Li"V djk-

(2) cn«R;k izek.kkpk fu;e lkaxk o Li"V djk- R;kP;k m.khokaph ppkZ djk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ljkljh o lhekUr [kpZ gÓk ladYiuk vk«s[k o ;ksX; mnkgj.kkP;k lkgk∏;kus

Li"V djk- ljkljh o lhekUr [kpZ gÓk nksgksrh« laca/kkph ppkZZ djk-

(2) ljkljh] lhekUr vkf.k ,dw.k izkIrh Eg.kts dk; \ vk«s[k o ;ksX; lkaf[;dh;

mnkgj.kkaP;k lkgk∏;kus gÓk ladYiuk Li"V djk-

(3) le&mRiknu oÿ Eg.kts dk; \ le&mRiknu oÿkaP;k xq.k/kek±ph ppkZ djk-

(4) vkeZLV™kax ;kapk lhekUr ilarh flºkar lkaxk o Li"V djk-

4. [kk«h« Vhik izR;sdh 100 ðkCnkar f«gk (dks.kR;kgh pkjoj) % [20]

(1) lw{e vFkZðkkL=kP;k e;kZnk

(2) xrhðkh« vFkZðkkL=

(3) ekx.khpk fu;e

(4) miHkksDR;kps larks"kkf/kD;

(5) la/kh R;kx [kpZ

(6) js[kh; ,dftulh mRiknu Q«u-



P.T.O.
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[3904]-102

M.A. (Part I) (First Semester) EXAMINATION, 2011

ECONOMICS

EC 102 : Public Finance

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words each (any one) : [20]

(1) Discuss the changing perspective of Government in a mixed

economy.

(2) Critically examine “Bowen and Lindhal models’ of benefit approach

to taxation.

2. Answer the following questions in 500 words each (any one) : [20]

(1) Explain fully Wiseman-Peacock Hypothesis of the growth of

Public Expenditure.

(2) Explain in detail Classical, Keynesian and post-Keynesian

approaches of Public Debt.
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3. Answer the following questions in detail with 250 words each

(any two) : [20]

(1) Explain the concepts of Public Goods and Merit Goods.

(2) Critically examine Ability to Pay principle of taxation.

(3) Distinguish between Impact and Incidence of Tax.

(4) Explain the methods of repayment of Public Debt.

4. Write short notes on (any four) : [20]

(1) Fiscal functions of the Government

(2) Administrative efficiency of taxation

(3) Types of incidence

(4) Wagner’s law of public expenditure

(5) Classification of public debt

(6) Burden of public debt.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkoh-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) feJ vFkZO;oLFksrh« ðkklukP;k cn«R;k Hkwfedsfo"k;h ppkZ djk-

(2) ^cksosu vkf.k f«a<k«P;k dj«kHk n`f"Vdksu izfrekukps* VhdkRed ijh{k.k djk-
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2. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) okbZteu&fidkWd ;kaP;k lkoZtfud [kpZ o`ºhP;k x`ghr dYiuk lfoLrj Li"V

djk-

(2) lkoZtfud dtkZlaca/khpk lukru] dsUlh;u o dsUlksrj n`"Vhdks.k lfoLrj Li"V

djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(1) ^lkoZtfud oLrw* o ^xq.kk/kkjhr oLrw* ;k ladYiuk Li"V djk-

(2) ^djns; {kerk rRokps* VhdkRed ifj{k.k djk-

(3) djk?kkr o djHkkj ;krh« Qjd Li"V djk-

(4) lkoZtfud dtZijrQsMhps ekxZ Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) ðkklukph jktdks"kh; dk;sZ

(2) dj vkdkj.khph O;oLFkkidh; dk;Z{kerk

(3) djHkkjkps izdkj

(4) lkoZtfud [kpkZpk oWXuj ;kapk flºkar

(5) lkoZtfud dtkZps oxhZdj.k

(6) lkoZtfud dtkZpk Hkkj-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-103

M.A. (Part I) (First Semester) EXAMINATION, 2011

ECONOMICS

(EC-103 : Agricultural Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 500 words each (any one) : [20]

(1) State and explain the role of Agriculture in Indian economy.

(2) What do you mean by self-help groups ? Explain positive impacts

of self-help groups.

2. Answer the following questions in 500 words each (any one) : [20]

(1) Explain the causes of low productivity of Livestock resources

in India.

(2) Explain the role of NABARD in Agricultural credit system.

3. Answer the following questions in 250 words each (any two) :  [20]

(1) What is Agricultural Management ? Explain the problems of

Agricultural Management.

(2) “Farming as a business or way of life.” Comment.

P.T.O.
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(3) Explain the types of Agricultural Marketing.

(4) Discuss the challenges before Agricultural Sector.

4. Write short notes on (any four) : [20]

(1) Importance of organic farming;

(2) Agriculture price policy;

(3) Food Security;

(4) Problems of recycling;

(5) Unorganised credit system;

(6) Principles of Agricultural Management.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) Hkkjrh; vFkZO;oLFksrh« ðksrhph Hkwfedk lkaxk o Li"V djk-

(2) Lo;algk∏;rk xV Eg.kts dk; \ Lo;algk∏;rk xVkps ldkjkRed ifj.kke Li"V

djk-

2. [kk«h«iSdh izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) Hkkjrkrh« iðkq/kukph mRikndrk deh vl.;kph dkj.ks Li"V djk-

(2) ðksrhP;k irO;oLFksrh« ukckMZph Hkwfedk Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) œ"kh O;oLFkkiu Eg.kts dk; \ œ"kh O;oLFkkiukP;k leL;k Li"V djk-

(2) ^^ðksrh ,d O;olk; dh thouiºrh** rqeps er lkaxk-

(3) ðksrekˇ foÿhO;oLFksps izdkj Li"V djk-

(4) ðksrh{ks=kiq<h« vkOgkukaph ppkZ djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) lsaÊh; ðksrhps egRo_

(2) ðksrek« fdaer /kksj.k_

(3) vUu lqj{kk_

(4) iqu%fufeZrhP;k leL;k_

(5) vla?kVhr ir O;oLFkk_

(6) ðksrh O;oLFkkiukph rRos-
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[3904]-104

M.A. (Part I) (First Semester) EXAMINATION, 2011

ECONOMICS

(EC-104 : Indian Economic Policy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(1) Explain in detail the indicators of economic development and

economic growth.

(2) Evaluate the economic reforms in India.

2. Answer the following questions in 500 words each (any one) : [20]

(1) Give a review of Monetary Policy changes of R.B.I. since

1991.

(2) Explain the importance and problems of small scale

industries.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Examine the present problems of education system in

India.

P.T.O.
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(2) What are the problems of Labour Market in India ?

(3) Explain the trend and structure of National Income.

(4) Evaluate agricultural pricing policy.

4. Write short notes on (any four) : [20]

(1) Nature of Poverty in India

(2) Liberalization Policy

(3) Trends in Indian capital market

(4) Growth and pattern of Industrialisation

(5) Problems of agricultural marketing

(6) Nature of unemployment in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krsgh ,d)%  [20]

(1) vkfFkZd fodkl vkf.k vkfFkZd o`ºhps funsZðkd lfoLrj Li"V djk-

(2) Hkkjrkrh« vkfFkZd lq/kkj.kkaps ewY;ekiu djk-

2. [kk«h« izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krsgh ,d)%  [20]

(1) 1991 iklwu Hkkjrh; fj>oZ c°dsP;k p«ufo"k;d /kksj.kkP;k cn«kpk vk<kok

?;k-

(2) «?kq m|ksxkaps egRo vkf.k leL;k Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu)%  [20]

(1) Hkkjrkrh« l|kP;k fðk{k.kiºrhP;k leL;kaps ijh{k.k djk-

(2) Hkkjrh; JecktkjkP;k leL;k dk; vkgsr \

(3) jk"V™h; mRiUukph izo`Ÿkh vkf.k jpuk Li"V djk-

(4) ^ðksrek« fdaer /kksj.kkps* ewY;ekiu djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) %  [20]

(1) Hkkjrkrh« nkfjÊÓkps Lo:i

(2) mnkjhdj.kkps /kksj.k

(3) Hkkjrh; HkkaMoˇ cktkjkrh« cnˇ

(4) vkS|ksfxdj.kkph ok< vkf.k vkœrhca/k

(5) ðksrek« foÿhP;k leL;k

(6) Hkkjrkrh« csdkjhps Lo:i-
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[3904]-105

M.A. (Part I) (First Semester) EXAMINATION, 2011

ECONOMICS

(EC-105 : Labour Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(1) State the concept and meaning of labour. Explain the char-

acteristics of labour markets.

(2) Critically evaluate the modern theory of wages.

2. Answer the following questions in 500 words each (any one) : [20]

(1) What is absenteeism of industrial labour ? Explain the causes

and effects of absenteeism.

(2) What are the causes of industrial disputes ? Explain the industrial

disputes settlement and prevention mechanism.

3. Answer the following questions in 250 words each (any two) : [20]

(1) State the need of safety nets.

(2) Explain the effects of globalization on labour market in

India.

P.T.O.
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(3) Explain the wage policy in India.

(4) State the flexibility in labour market.

4. Write short notes on (any four) : [20]

(1) Effects of migration

(2) Fair wage

(3) Second National Commission on Labour

(4) Exit Policy

(5) Current trends in collective bargaining

(6) Labour turnover.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1. [kk«h« izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) Jfedkph ladYiuk o vFkZ lkaxk- Jfed cktkjkph oSfðk"Vs Li"V djk-

(2) osrukP;k vk/kqfud flºkarkps VhdkRed ifj{k.k djk-

2. [kk«h« izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) vkS|ksfxd Jfedkaph vuqifLFkrh Eg.kts dk; \ vuqifLFkrhph dkj.ks o ifj.kke

Li"V djk-

(2) vkS|ksfxd d«gkph dkj.ks dks.krh \ vkS|ksfxd d«g lksMfo.ks o Vkˇ.ksph

;a=.kk Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) lqjf{kr tkˇsph xjt lkaxk-

(2) Hkkjrkrh« Je cktkjkoj tkxfrdhdj.kkps ifj.kke Li"V djk-

(3) Hkkjrkrh« osru /kksj.k Li"V djk-

(4) Je cktkjkrh« «ofpdrk lkaxk-

4. FkksMD;kr Vhik f«gk (dks.krsgh pkj) %  [20]

(1) LFk«karjkps ifj.kke

(2) ;ksX; osru

(3) nqljk jk"V™h; Je vk;ksx

(4) fuxZeu /kksj.k

(5) lkeqnkf;d lkSnk iºrhrh« vf«dfM« izo`Ÿkh

(6) Jfed m«k<k«-
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[3904]-106

M.A. (Part I) (First Semester) EXAMINATION, 2011

ECONOMICS

(EC-106 : Cooperation—Theory and Practice)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(1) Explain in detail the basic principles of cooperation.

(2) Give a structure of cooperative audit system in Maharashtra.

What are its weaknesses ? Suggest measures to remove

it.

2. Answer the following questions in 500 words each (any one) : [20]

(1) Explain the role of NABARD in Rural Credit in India since

1991.

(2) What is cooperative education and training ? Explain the objectives

and problems of cooperative training in India.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Give a brief account of co-operative movement in Germany.

P.T.O.
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(2) Explain the features of Co-operative Societies Act, 1912.

(3) Explain the need of International co-operative alliance.

(4) Discuss the weaknesses of Co-operative Movement in India.

4. Write short notes on (any four) : [20]

(1) Characteristics of co-operation

(2) Importance of Co-operative Societies Act, 1904

(3) Problems of co-operative sugar factories in Maharashtra

(4) Recommendations of Vaidhyanathan Committee.

(5) Co-operative Movement in Japan.

(6) Types of Cooperative Audit.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) %  [20]

(1) lgdkjkph eq«Hkwr rRos lfoLrj Li"V djk-

(2) egkjk"V™krh« lgdkjh «s[kkijh{k.k iºrhph jpuk lkaxk- frP;k m.khok dks.kR;k

vkgsr \ R;k nwj dj.;klkBh mik; lqpok-

2. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) %  [20]

(1) 1991 iklwu Hkkjrkrh« xzkfe.k iriqjoBÓkrh« ukckMZph Hkqfedk Li"V

djk-

(2) lgdkjh fðk{k.k o izfðk{k.k Eg.kts dk; \ Hkkjrkrh« lgdkjh izfðk{k.kkph

mfÌ"Vs o leL;k Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krkgh nksu) %  [20]

(1) teZuhe/kh« lgdkjh pˇoˇhpk FkksMD;kr vk<kok ?;k-

(2) lgdkjh laLFkk dk;nk 1912 ph oSfðk"VÓs Li"V djk-

(3) vkarjjk"V™h; lgdkjh la?kVukph xjt Li"V djk-

(4) Hkkjrkrh« lgdkjh pˇoˇhP;k m.khokaph ppkZ djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) %  [20]

(1) lgdkjkph oSfðk"VÓs

(2) lgdkjh laLFkk dk;nk] 1904 ps egRo

(3) egkjk"V™krh« lgdkjh lk[kj dkj[kkU;kaP;k leL;k

(4) oS|ukFku~ lferhP;k fðkQkjðkh

(5) tikue/kh« lgdkjh pˇoˇ

(6) lgdkjh «s[kk ijh{k.kkps izdkj-



Total No. of Questions—4] [Total No. of Printed Pages—4

[3904]-107

M.A. (Part I) (First Semester) EXAMINATION, 2011

ECONOMICS

(EC-107 : Mathematical Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

(v) Use of non-programmable calculator is allowed.

1. Answer the following questions (any one) : [20]

(1) If :

 
 
 − 
 
  

1 2 2

A = 2 1 2

2a b

is a matrix satisfying AAT = 9I3, then find the values of ‘a’

and ‘b’.

(2) Find the profit maximisation output for a firm with the total

cost function and also from MR and MC function. Also derive

the slope of MR and MC curve :

TC = 4 + 97q – 8.5q2 + 
1

3
q3

and the total revenue function,

TR = 58q – 0.5q2.

P.T.O.
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2. Answer the following questions (any one) : [20]

(1) For non-linear demand function,

P = 1800 – 0.6q2 and

the corresponding marginal revenue function,

MR = 1800 – 1.8q2,

use definite integrals to find :

(i) MR when ‘q’ is 10.

(ii) The change in TR when ‘q’ increases from 10 to 20.

(iii) Consumer surplus when q = 10.

(2) A firm produces goods A and B, which are complements. Derive

marginal revenue functions for the two goods if the relevant

demand schedules are :

qA = 850 – 12.5 PA – 3.8 PB

qB = 936 – 4.8 PA – 24 PB.

3. Answer the following questions (any two) : [20]

(1) Find the elasticities of TC and AC of the function :

+ +2C = 2 4 3.x x

(2) For the matrix :

 
 
 
 
 
  

5 0 2

A = 3 4 5

2 1 2

.
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Derive :

(i) The cofactor matrix C

(ii) The adjoint matrix Adj A

(iii) The inverse of matrix A–1 by manual calculations.

(3) The marginal cost function (MC) of a firm is MC = (log x)2.

Find the total cost function, when the cost of producing one

unit is Rs. 20.

(4) What type of returns to scale does the production function

Q = 45K0.4 L0.4 exhibit ? Derive and explain.

4. Answer the following questions (any four) : [20]

(1) Evaluate :

 
 
 =  
 
  

2 5 9

|D| 4 8 3

1 7 4

.

(2) You sell 500 shares in a company via a stock broker who

charges a flat Rs. 20 commission rate on all transactions under

Rs. 1000. Your bank account is credited with Rs. 692 from

the sale of shares. What price (in paise) were your shares

sold at ?

(3) If a firm spends Rs. 650 on fixed costs, what is its total

cost (TC) function, if its marginal cost function

MC = 82 – 16q + 1.8q2.
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(4) If Rs. 600 is invested for 3 years at 8% interest compounded

annually at the end of each year, what will the final value

of the investment be ?

(5) Evaluate :

         
=
∑
4

1

(9 ).i

i

(6) If C = 0.01x2 + 5x + 100 is a cost function, find the average

cost function. At what level of production x is there a minimum

AC ? What is this minimum ?



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-108

M.A. (Part I) (First Semester) EXAMINATION, 2011

ECONOMICS

(EC-108 : Demography)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(1) State and explain the theory of Demographic Transition.

(2) State the concept of quality of population and explain the factors

affecting the quality of population.

2. Answer the following questions in 500 words each (any one) : [20]

(1) Critically examine Family Planning Programmes and state its

consequences in India.

(2) Explain pattern of age and sex structure in developing

nations.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Critically examine the Optimum Theory of Population.

(2) Explain the measures of Crude Birth Rate, General Fertility

Rate and Total Fertility Rate.

P.T.O.
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(3) Examine the population trends in recent years in India.

(4) Explain the Human Development Index.

4. Write short notes on (any four) : [20]

(1) Meaning and nature of Demography

(2) Life expectancy

(3) Population policy of India

(4) Women empowerment

(5) Health policy in India

(6) Gender equality ratio.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) «ksdla[;k laÿe.k flºkar lkaxk o Li"V djk-

(2) «ksdla[;sph xq.koŸkk gh ladYiuk lkaxk vkf.k «ksdla[;sP;k xq.koŸksoj ifj.kke

dj.kkjs ?kVd Li"V djk-

2. [kk«h«iSdh izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) Hkkjrkrh« dqVqac fu;kstu dk;Zÿekps VhdkRed ifj{k.k djk vkf.k R;kps Hkkjrkrh«

ifj.kke Li"V djk-

(2) vYifodflr nsðkkrh« o;ksxV vkf.k L=h&iq#"k jpuk Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) «ksdla[;sP;k i;kZIr flºkarkps VhdkRed ifj{k.k djk-

(2) LFkw« tuunj] loZlk/kkj.k tuunj o ,dw.k tuunjkps ekiu Li"V djk-

(3) Hkkjrkrh« «ksdla[;sP;k vf«dMP;k dkˇkrh« izo`Ÿkhps ifj{k.k djk-

(4) ekuoh fodkl funsZðkkad Li"V djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) %  [20]

(1) «ksdla[;kðkkL=kpk vFkZ vkf.k egRo

(2) vk;qekZu

(3) Hkkjrkps «ksdla[;kfo"k;d /kksj.k

(4) efg«k lc«hdj.k

(5) Hkkjrkrh« vkjksX;fo"k;d /kksj.k

(6) f«ax xq.kksŸkj lekurk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-201

M.A. (Part I) (Second Semester) EXAMINATION, 2011

ECONOMICS

(EC-201 : Micro-Economic Analysis–II)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to-the-point.

1. Answer any one of the following questions (in 500 words) : [20]

(1) Compare the equilibrium of the firm under monopoly and perfect

competition.

(2) Explain the features of monopolistic competition. How

is price and output determined under monopolistic

competition ?

2. Answer any one of the following questions (in 500 words) : [20]

(1) Explain the features of oligopoly. How is price and output

determined under oligopoly ?

(2) Critically examine marginal productivity theory of

distribution.

P.T.O.
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3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain Marris’s managerial model of the firm.

(2) State and explain Pigou’s theory of welfare economics.

(3) Explain modern theory of rent.

(4) What is discriminating monopoly ? State how a firm attains equilibrium

under discriminating monopoly.

4. Write short notes on (any four) : [20]

(1) Baumol’s model of sales revenue maximization

(2) Excess capacity

(3) Arrow’s impossibility theorem

(4) Risk and uncertainty theory of profit

(5) Selling cost

(6) Features of perfect competition.

(ejkBh :ik arj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :—(i) loZ i zðu lk sMok-

(ii) vkoð;d r sFk s  l qcd vkœR;k dk<k-

(iii) mŸkj s  u sedh o e qÌ sl qn vlkohr-

(iv) lanHkk ZlkBh e qˇ b ax zth i zðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d i zðu lk sMok (500 ðkCnk ar) % [20]

(1) m|k sxl aLFk sP;k eDr snkjh o i w.k Z  Li/k k Z  lerk s«kph r q«uk

djk-

(2) eDr snkjh; qDr Li/k s Zph o S fðk"VÓ s Li"V djk- eDr snkjh; qDr Li/
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k s Zr fd aer o mRiknu fufðprh dðk h gk sr s  \

2. [kk«h« i zðukaph mŸkjs izR;sdh 500 ðkCnk ar f«gk (dk s. krkgh

,d) % [20]

(1) vYifoÿsrkf/kdkjkph o S fðk"VÓ s Li"V djk- vYifoÿsrkf/kdkjkr

fdaer o mRiknu fufðprh dðk h gk sr s  \

(2) foHkktukP;k flek ar mRikndrk flºk arkp s fVdkRed ijh{k.k djk-

3. [kk«h«i Sdh i zðukaph mŸkjs izR;sdh 250 ðkCnk ar f«gk (dk s. kr sgh

nk su) % [20]

(1) ek W fjðkp s m|k sxl aLFk sp s  O;oLFkkidh; i z freku Li"V djk-

(2) fix qpk dY;k.kdkjh vFk Zðk kL=kpk flºk ar lk axk o Li"V djk-

(3) [k aMkpk vk/k q fud flºk ar Li"V djk-

(4) foHk snkRed eDr snkjh Eg.kt s dk; \ foHk snkRed eDr snkjhr

m|k sxl aLFk k lerk s« dlk lk/; djr s r s  lk axk-

4. Fkk sMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) ck≈ek s«ps foÿhi z k Irh egŸkehdj.kkp s i z freku

(2) vfrjhDr {kerk

(3) vWjk spk vðkD;rk flºk ar

(4) u∂;kpk /k k sdk o vfufðprrspk flºk ar

(5) foÿh [kp Z

(6) i w.k Z  Li/k s Zph o S fðk"VÓ s -



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-202

M.A. (Second Semester) EXAMINATION, 2011

ECONOMICS

(EC-202 : Indian Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to-the-point.

1. Answer any one of the following questions (in 500 words) : [20]

(1) Explain the trends in expenditure of Union and State Government

since 1991.

(2) What is Budget ? Explain the economic classification of

Budget.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail the recommendations of Twelfth Finance

Commission.

(2) State the meaning of deficit financing. Explain the effects of

deficit financing on Indian economy.

3. Answer any two questions in 250 words each : [20]

(1) What are the causes of fiscal imbalances between the Centre

and States ?

P.T.O.
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(2) State the principles of federal finance.

(3) State and explain the objectives of fiscal policy.

(4) Explain the reforms in direct taxes.

4. Write short notes on (any four) : [20]

(1) Preparation of Budget

(2) Public debt policy since 1991

(3) Automatic stabilizers

(4) Centre-States conflicts on finances

(5) Trends in revenue of Union

(6) Effects of Fiscal imbalances between Centre and States.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mrjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ew« baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,dk izðukps 500 ðkCnkar mŸkj f«gk %  [20]

(1) 1991 uarjP;k dsaÊ o jkT; ljdkjP;k [kpZfo"k;d izœrh foðkn djk-

(2) vFkZladYi Eg.kts dk; \ vFkZladYikps vkfFkZd oxhZdj.k Li"V djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk %  [20]

(1) ckjkO;k foŸkvk;ksxkP;k fðkQkjðkh lfoLrj Li"V djk-

(2) rqVhP;k vFkZHkj.;kpk vFkZ lkaxk- rqVhP;k vFkZHkj.;kps Hkkjrh; vFkZO;oLFksojh«

ifj.kke Li"V djk-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk %  [20]

(1) dsaÊ vkf.k jkT; ;kaP;krh« foŸkh; vlerks«kph dkj.ks dks.krh \

(2) la?kjkT; foŸk O;oLFksps rRos lkaxk-

(3) jkT;foŸkh; /kksj.kkph mfÌ"V lkaxk o Li"V djk-

(4) izR;{k djkrh« lq/kkj.kk foðkn djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) %  [20]

(1) vankti=dkph iqoZr;kjh

(2) 1991 uarjps lkoZtfud dtZfo"k;d /kksj.k

(3) Lo;apf«r fLFkjds

(4) foŸkiqjoB~;kckcr dsaÊ vkf.k jkT; la?k"kZ

(5) dsaÊ ljdkjP;k eglq«krh« izo`Ÿkh

(6) dsaÊ vkf.k jkT; ;kaP;krh« foŸkh; vlerks«kps ifj.kke-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-203

M.A. (Part I) (Second Semester) EXAMINATION, 2011

ECONOMICS

EC-203 : Indian Agriculture Problems and Policies

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the causes of Low efficieny of Agricultural Labour in

India.

(2) Explain the effects of WTO on Indian Agriculture.

2. Answer any one of the following questions in 500 words : [20]

(1) Critically evaluate the Employment Guarantee Scheme.

(2) Explain the EXIM Policy of 2004-09.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the present policy of Ceiling on Land Holding.

(2) Explain the problems of Agricultural Labour.
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(3) State recent changes in fruits Export-Import Policy.

(4) State the impact of Mechanization on Agricultural Labour in

India.

4. Write short notes on (any four) : [20]

(1) Problems of Import

(2) Agricultural problems in Maharashtra

(3) Issues of Agricultural Subsidies

(4) Recent changes in Export Policy of Grain Crops, Milk, Meat

(5) SEZ policy of India

(6) Unemployment problem.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh eqˇ baxzth iz'uif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,d izðu 500 ðkCnkar lksMok % [20]

(1) Hkkjrkrh« ðksretqjkaP;k vYi dk;Z{kersph dkj.ks Li"V djk-

(2) tkxfrd O;kikj la?kVusps Hkkjrh; ðksrhojh« ifj.kke Li"V djk-



[3904]-203 3 P.T.O.

2. [kk«h«iSdh dks.krkgh ,d izðu 500 ðkCnkar lksMok % [20]

(1) jkstxkj geh ;kstusps fpdhRld eqY;ekiu djk-

(2) 2004&2009 ps vk;kr&fu;kZr /kksj.k Li"V djk-

3. [kk«h«iSdh izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) dek« Hkw/kkj.kkfo"k;d l|fLFkrhrh« /kksj.k Li"V djk-

(2) ðksretqjkaP;k leL;k Li"V djk-

(3) QˇkaP;k vk;kr&fu;kZr /kksj.kkrh« v«hdMh« cn« lkaxk-

(4) Hkkjrkrh« ðksretqjkaoj ;kaf=dhdj.kkpk >k«s«k ifj.kke lkaxk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) vk;kr leL;k

(2) egkjk"V™krh« ðksrhP;k leL;k

(3) ðksrhfo"k;d vuqnkukpk izðu

(4) /kkU;] nw/k] ekal lanHkkZrh« fu;kZr /kksj.kkr v«hdMhˇ cn«

(5) Hkkjrkps foðks"k vkfFkZd {ks=kps /kksj.k

(6) csdkjhph leL;k-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-204

M.A. (Part I) (Second Semester) EXAMINATION, 2011

ECONOMICS

EC–204 : Industrial Economics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one the following questions in 500 words : [20]

(1) What is Industrial Economics ? Explain the scope and significance

of the study of Industrial Economics.

(2) Critically evaluate the Sargent Florence theory of Industrial

Location.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain fully the sources of Industrial Finance.

(2) Explain in detail the Industrial Policy, 1991.

3. Answers the following questions in 250 words each (any two) : [20]

(1) Explain the factors affecting industrial productivity.

(2) Comment on the role and problems of public sector industries

in India.

P.T.O.
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(3) Critically evaluate the performance and problems of small scale

industries in India.

(4) Comment on the trends in industrial growth since 1991.

4. Write short notes (any four) : [20]

(1) Disinvestment Policy;

(2) Need for balanced regional development of industries;

(3) Government’s policy towards foreign capital;

(4) Role of Multi-National Corporations in India;

(5) Effects of Industrial Monopoly;

(6) Direct Foreign Investment.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) vkS|ksfxd vFkZðkkL= Eg.kts dk; \ vkS|ksfxd vFkZðkkL=kP;k vH;klkph O;kIrh

o egRo Li"V djk-

(2) vkS|ksfxd LFkkuh;hdj.kkP;k lkt±V ∂«ksjsUl ;kaP;k flºkarkps VhdkRed ijh{k.k

djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) vkS|ksfxd foŸkiqjoBÓkps lzksr lfoLrj Li"V djk-

(2) 1991 ps vkS|ksfxd /kksj.k lfoLrj Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % 20]

(1) vkS|ksfxd mRikndrsoj ifj.kke dj.kkjs ?kVd Li"V djk-

(2) Hkkjrkrh« lkoZtfud {ks=krh« m|ksxkaph Hkwfedk vkf.k leL;k ;koj Hkk";

djk-

(3) Hkkjrkrh« «?kq m|ksxkaP;k dkefxjhps vkf.k leL;kaps VhdkRed ewY;ekiu djk-

(4) 1991 iklwuP;k vkS|ksfxd o`ºhrh« izo`Ÿkhoj Hkk"; djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) fuxq±r.kqdhps /kksj.k_

(2) m|ksxkaP;k larqf«r izknsfðkd fodklkph xjt_

(3) ijdh; HkkaMo«ckcrps ljdkjps /kksj.k_

(4) Hkkjrkrh« cgqjk"V™h; daiU;kaph Hkwfedk_

(5) vkS|ksfxd eDrsnkjhps ifj.kke_

(6) FksV ijdh; xaqro.kqd-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-205

M.A. (Second Semester) EXAMINATION, 2011

ECONOMICS

EC-205 : Rural Development

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any one of the following (in 500 words) : [20]

(1) Describe the structure of rural economy in India. Explain the

scope and importance of rural development.

(2) Evaluate the contribution of irrigation and rural electrification

in India’s rural development.

2. Answer any one of the following (in 500 words) : [20]

(1) Comment on nature and causes of rural poverty in India. Explain

the role of rural industrialisation in eliminating the rural

indebtedness.

(2) State the features and progress of Swarn Jayanti Gram Swarojgar

Yojana.
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3. Answer any two questions (in 250 words each) : [20]

(1) Explain the nature of Agrerian Reforms in India.

(2) Describe the features of V.M. Dandekar’s approach of rural

development.

(3) Explain the nature and causes of rural unemployment.

(4) Evaluate the success of Tribal Development Programme in India.

4. Write short notes on any four (in 100 words each) : [20]

(1) Green Revolution and Rural Development.

(2) Scope and importance of Rural Development.

(3) Role of SHG’s in eliminating Rural Poverty.

(4) Employment Guarantee scheme of Maharashtra.

(5) TRYSEM.

(6) Role and problems of Rural Transport.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkr) % [20]

(1) Hkkjrkrh« xzkeh.k vFkZO;oLFksP;k jpusps o.kZu djk- xzkeh.k fodklkph O;kIrh
vkf.k egRo Li"V djk-

(2) HkkjrkP;k xzkeh.k fodklkrh« t«flapu vkf.k fo|qrhdj.kkP;k ;ksxnkukps ijh{k.k

djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkr) % [20]

(1) Hkkjrkrh« xzkeh.k nkjhÊÓkps Lo:i vkf.k dkj.kkaoj Hkk"; djk- xzkeh.k dtZcktkjh&

i.kk deh dj.;krh« xzkfe.k fo|qrhdj.kkph Hkqfedk Li"V djk-

(2) Lo.kZ t;arh xzke Lojkstxkj ;kstusph oSfðk"Vs vkf.k izxrh lkaxk-

3. dks.kR;kgh nksu izðukaph mŸkjs f«gk (izR;sdh 250 ðkCnkr) % [20]

(1) Hkkjrkrh« ðksrhfo"k;d lq/kkj.kkaps Lo:i Li"V djk-

(2) xzkeh.k fodklkP;k fo- e- nkaMsdj ;kaP;k n`"VhdksukP;k oSfðk"VÓkaps o.kZu djk-

(3) xzkeh.k csjkstxkjhps Lo:i vkf.k dkj.ks Li"V djk-

(4) Hkkjrkrh« vkfnoklh fodkl dk;ZÿekP;k ;ðkkps eqY;ekiu djk-

4. dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 ðkCnkr) % [20]

(1) gjhr ÿkarh vkf.k xzkeh.k fodkl

(2) xzkeh.k fodklkph O;kIrh vkf.k egRo

(3) xzkeh.k nkjhÊÓ deh dj.;krh« Lo;a&lkgÓrk xVkaph Hkqfedk

(4) egkjk"V™kph jkstxkj geh ;kstuk

(5) V™k;lse (TRYSEM)

(6) xzkeh.k okgrqdhph Hkqfedk vkf.k leL;k-



Total No. of Questions—4] [Total No. of Printed Pages—2

[3904]-206

M.A. (Part I) (Second Semester) EXAMINATION, 2011

ECONOMICS

EC-206 : Computer Application in Economic Analysis

(2008 PATTERN)

Time : Two & Half Hours Maximum Marks : 60

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Attempt any one of the following questions : [1×15=15]

(i) What is on-line shopping ? Explain pros and cons of on-line

shopping.

(ii) Explain B2B and B2C model with its application.

2. Attempt any one of the following (A or B) : [1×15=15]

(A) (1) Explain E-mail as an application of an Internet. [8]

(2) Explain the use of taskbar and start menu. [7]

Or

(B) (1) What is electronic transaction ? Explain with suitable example

how to authenticate electronic transaction. [8]

(2) Explain the goals of Computer Network. [7]

P.T.O.
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3. Attempt any three of the following : [3×5=15]

(1) What are the benefits of Internet to Organization ?

(2) Explain the various component of a Window.

(3) Explain any two Input devices.

(4) What are the advantages of electronic stock exchange ?

(5) Explain the components of computer.

4. Attempt any three of the following : [3×5=15]

(1) Explain the features provided in MS-Excel for data filtration.

(2) Explain the use of plotters and CD-ROM.

(3) What do you mean by www ? Explain the use of web browser.

(4) Explain the advantages of ATM.

(5) What is worksheet ? Explain the addressing of cell and range

of cell.



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-207

M.A. (Part I) (Second Semester) EXAMINATION, 2011

ECONOMICS

EC-207 : Statistical Techniques

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Attempt any one of the following questions : [20]

(1) A problem of statistics is given to two students ‘A’ and ‘B’.

The odds in favour of A solving the problem are 6 to 9 and

against ‘B’ solving the problem 12 to 10. If A and B attempt,

find the probability of the problem being solved.

(2) Define and discuss Index numbers and give their uses, also

give the chain base method of constructing a Price Index Numbers.

2. Attempt any one of the following questions : [20]

(1) From the prices of shares of ‘X’ and ‘Y’ below; find out which

is more stable in value :

X Y

34 108

54 107

52 105

P.T.O.
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53 105

56 106

58 107

52 104

50 103

51 104

49 101

(2) What is a time series ? Distinguish between the secular trend,

the seasonal variations and the cyclical fluctuations. How would

you measure secular trend in any given data ?

3. Attempt any two of the following questions : [20]

(1) Discuss the merits and demerits of Laspeyres’ formulae.

(2) Discuss sampling and non-sampling errors. Also suggest ways

of minimizing them.

(3) The following table gives the marks obtained by a group of

80 students in an examination. Calculate the variance.

Marks Obtained No. of Students

10—14 2

14—18 4

18—22 4

22—26 8

26—30 12

30—34 16
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34—38 10

38—42 8

42—46 4

46—50 6

50—54 2

54—58 4

(4) What do you understand by regression model ? What are its

uses ?

4. Write short notes on any four : [20]

(1) Standard normal deviate.

(2) Need of the testing of hypothesis.

(3) Degrees of freedom.

(4) Solve : In a given distribution,

Arithmetic Mean = 35

Median is 36. Find Mode.

(5) Type I and Type II errors.

(6) Composite hypothesis.



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-208

M.A. (Part I) (Second Semester) EXAMINATION, 2011

ECONOMICS

(EC-208 : Community Development and Planning)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(1) Elaborate the strategies regarding development and value creation

in independent India.

(2) Explain in detail the determinants of development.

2. Answer the following questions in 500 words each (any one) : [20]

(1) Write the theory of dependency.

(2) Explain the theory of uneven and combined development.

3. Answer the following questions in 250 words each (any two) : [20]

(1) State the International Population Policy.

(2) State the interdependence of social development and the

environment.

(3) What is community development ?

(4) Write in detail the concept of ‘Asset Vulnerability Framework’.

P.T.O.
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4. Write short notes on any four : [20]

(1) Basic human needs;

(2) Behaviour of social system;

(3) Religious values and economic organization;

(4) Concept of social capital;

(5) Dependency between planning and aid;

(6) Fundamentals of social theory.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) Lora= Hkkjrkrh« ewY;fufeZrh vkf.k fodklkps Mkoisp foðkn djk-

(2) fodklkps fu/kkZjd lfoLrj Li"V djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) vo«afcŸokpk flºkar f«gk-

(2) fo"ke vkf.k ,df=r fodklkpk flºkUr Li"V djk-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk % [20]

(1) vkarjjk"V™h; «ksdla[;k /kksj.k Li"V djk-

(2) i;kZoj.k vkf.k lkekftd fodkl ;kaps ijLijko«afcŸo lkaxk-

(3) leqnk; fodkl Eg.kts dk; \

(4) ek«eŸkk Hksnuh;rk pkSdV gh ladYiuk lfoLrj Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) ewYkHkwr ekuoh xjtk_

(2) lkekftd iz.kk«hph orZ.kwd_

(3) /kkfeZd ewY;s vkf.k vkfFkZd laLFkk_

(4) lkekftd HkkaMo«kph ladYiuk_

(5) fu;kstu vkf.k enr ;krh« ijLijko«afcŸo_

(6) lkekftd flºkUrkph ew«rŸos-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-301

M.A. (Part II) (Third Semester) EXAMINATION, 2011

ECONOMICS

EC-301 : Macro-Economic Analysis—I

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt all questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain Keynes’s Liquidity Preference Approach of demand for

money.

(2) What is Marginal Efficiency of Capital ? Explain the factors

affecting marginal efficiency of capital.

2. Answer any one of the following questions in 500 words : [20]

(1) What is Investment Multiplier ? Explain the process of income

propagation with investment multiplier.

(2) Describe a mechanistic model of Bank deposit determination.
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3. Answer any two of the following questions in 250 words each : [20]

(1) Explain the types of consumption function.

(2) Derive LM curve.

(3) Explain the working of acceleration principal.

(4) Explain flow of funds’ accounting.

4. Write short notes on (any four) : [20]

(1) RBI’s approach to money supply

(2) Absolute income hypothesis

(3) Money multiplier

(4) Types of budget deficits

(5) Classical approach to demand for money

(6) Circular flow of income in two-sector economy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkoh-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) dsUlpk iSðkkP;k ekx.khpk jks[krk ilarh Ê"Vhdksu Li"V djk-

(2) HkkaMo«kph flekar dk;Z{kerk Eg.kts dk; \ HkkaMo«kP;k flekar dk;Z{kersoj
ifj.kke dj.kkjs ?kVd Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) xqaro.kwd xq.kd Eg.kts dk; \ xqaro.kwd xq.kdkP;k lgk∏;kus mRiUu izlkjkph

izfÿ;k Li"V djk-

(2) irfufeZrhP;k ;kaf=d izfrekukps o.kZu djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaps mŸkj izR;sdh 250 ðkCnkr f«gk % [20]

(1) miHkksx Q«ukps izdkj Li"V djk-

(2) ,«- ,e- oÿ r;kj djk-

(3) izosxkph dk;Ziºrh Li"V djk-

(4) fgðkksckph fu/khizokg iºr Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) iSðkkP;k iqjoBÓkpk Hkkjfr; fj>oZ c°dspk n`f"Vdks.k-

(2) fujis{k mRiUu x`fgrd-

(3) iSlk xq.kd-

(4) vankti=dkrh« rqVhps izdkj-

(5) iSðkkP;k ekx.khpk lukru n`f"Vdksu-

(6) f}{ksf=; vFkZO;oLFksrh« mRiUukpk pÿkdkj izokg-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-302

M.A. (Part II) (Third Semester) EXAMINATION, 2011

ECONOMICS

EC-302 : Economics of Growth

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt all questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(i) Define Economic Growth. Explain the role of capital, labour

and technology in economic growth.

(ii) Critically explain the Karl Marx’s theory of development of

capitalistic economy.

2. Answer any one of the following questions in 500 words : [20]

(i) Examine Growth model of the golden rule of accumulation.

(ii) Evaluate the contribution of Schumpeter in the development

of capitalist economy.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain Joan Robinson’s concept of ‘Golden age’.

(ii) Explain Ricardo’s theory of distribution.
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(iii) Explain structural analysis of development.

(iv) Explain the impact of market imperfections on economic growth.

4. Write short notes in 100 words each (any four) : [20]

(i) Human Development Index

(ii) Adam Smith’s Naturalism

(iii) Development and Intellectual Capital

(iv) Endogenous Growth

(v) Surplus Value

(vi) Technological Progress according to Hicks.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) vkfFkZd o`ºhph O;k[;k |k- HkkaMo«] Je o ra=Kku ;kaph vkfFkZd o`ºhrh«

Hkwfedk Li"V djk-

(ii) dk«Z ekDlZ ;kaP;k HkkaMo«ðkkgh vFkZO;oLFksP;k fodkl flºkarkps VhdkRed ifj{k.k

djk-
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) lap;kP;k lqo.kZ;qx o`ºh izfrekukps ifj{k.k djk-

(ii) HkkaMo«ðkkgh vFkZO;oLFksP;k fodklkrh« ðkwEihVj ;kaP;k ;ksxnkukps ewY;ekiu djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(i) tksu jkWchUlu ;kaph lqo.kZ;qx ladYiuk Li"V djk-

(ii) fjdkMksZ ;kapk foHkktukRed flºkar Li"V djk-

(iii) fodklkps lajpukRed foð«s"k.k Li"V djk-

(iv) cktkj viw.kZrkapk vkfFkZd o`ºhojh« ifj.kke Li"V djk-

4. [kk«h« Vhik izR;sdh 100 ðkCnkr f«gk (dks.krsgh pkj) % [20]

(i) ekuoh fodkl funsZðkkad

(ii) vWMe fLeFk ;kapk fulxZokn

(iii) fodkl o ckSºhd HkkaMo«

(iv) vartkZr o`ºh

(v) ok<kok ewY;

(vi) fgDl ;kaP;k n`"Vhdks.kkrwu rka=hd izxrh-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-303

M.A. (Part II) (Third Semester) EXAMINATION, 2011

ECONOMICS

[EC-303(A) : Research Methodology]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Define Research. Explain the importance and difficulties in social

science research.

(2) Explain in detail the different techniques of samples used in

research.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain the importance of Research Design and stages involved

in designing research.

(2) Describe fully the stages in report writing.

3. Answer the following questions in 250 words each (any two) :  [20]

(1) How is data analysed in social science research ?

(2) What are the systems available for Information ?

(3) Explain the importance of primary data.

(4) Explain the presentation of research.

P.T.O.
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4. Write short notes in 100 words each (any four) : [20]

(1) Importance of graphs and diagrams in research;

(2) Size of samples;

(3) Role of Hypothesis;

(4) Co-relation;

(5) Advantages of case study method;

(6) Techniques of Interview.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) laðkks/kukph O;k[;k |k- lkekthd ðkkL=krh« laðkks/kukps egRo o R;krh« vMp.kh

foðkn djk-

(2) laðkks/kuklkBh okij.;kr ;s.kkÚ;k fofo/k uequk fuoM ra=kps foLr`r Li"Vhdj.k

djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) laðkks/ku vkjk[kMÓkps egRo vkf.k laðkks/kukpk vkjk[kMk r;kj djrkuk «kx.kkÚ;k

fofo/k VII;kaps foLr`r Li"Vhdj.k |k-

(2) laðkks/ku vgok« «s[kukrh« R;krh« fofo/k VII;kaps foLr`r o.kZu djk-
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3. [kk«h«iSdh izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) lkekthd ðkkL= laðkks/kuklkBhP;k rF;kaps i`FkDdj.k dls ds«s tkrs \

(2) ekghrh lad«uklkBh dks.kdks.kR;k iz.kk«h mi«C/k vkgsr \

(3) izkFkfed rF;kaps egRo Li"V djk-

(4) laðkks/kukps lknjhdj.k Li"V djk-

4. [kk«h« Vhik izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) laðkks/kukr vk«s[k o vkœR;kaps egRo-

(2) uequk lkeqxzhpk vkdkj-

(3) x`fgrœR;kph Hkwfedk-

(4) lglaca/k-

(5) fofðk"BkH;kl iºrhps Qk;ns-

(6) eq«k[kr ra=s-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-304

M.A. (Part II) (Third Semester) EXAMINATION, 2011

ECONOMICS

EC-303 (B) Econometrics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Use of calculator is allowed.

1. Answer any one of the following questions : [20]

(1) Assume the following aggregate model for the Economy :

Ct = α1 + α2Dt + U1t

It = β1 + β2Yt + β3Yt–1 + U2t

Yt = Dt + Tt

Yt = Ct + It + Gt

where Ct, Dt, It and Yt are endogenous; Tt and Gt are exogenous.

Obtain the condition of identification for the first two structural

equations.

P.T.O.
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(2) Fit a curve of the type y = abx using least square principle

to the following data :

Year (x) Production (y)

(in tonnes)

1991 5

1992 40

1993 135

1994 320

1995 625

Also, estimate the production for the year 1996.

2. Answer any one of the following questions : [20]

(1) Suppose we have a model of the form

Y = a1 + b1 X + c1Z

Y = a2 + b2 X + c2W

where X and Y are endogenous and W and z are exogenous

variables. The reduced forms are estimated to be :

Y = 50 + 4Z + 2W

X = 100 – 2Z + 6W

Obtain the estimates of b1, b2, c1 and c2.

(2) What is multicollinearity ? Explain causes, consequences and

remedial measures of multicollinearity.

3. Answer any two of the following questions : [20]

(1) Given a linear regression model

Y = β1 + β2 Xi + Ui

where Ui ~ N(0, σ2). Obtain the expressions for OLS estimators

of β1 and β2 and state the properties satisfied by these

estimators.
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(2) Explain how dummy variable can be used in reasonal analysis

of time series data.

(3) Explain nature and sources of autocorrelation.

(4) Explain the methods of detection of heteroscedasticity.

4. Answer any four of the following questions : : [20]

(1) What is econometrics ? State the importance of econometrics.

(2) What is the role of stochastic error term in the regression

analysis ?

(3) Write a note on time series model and cross-section model.

(4) Consider the log-linear model

ln y = β1 + β2 ln X

Find the slope and elasticity for this model.

(5) Explain Probit model.

(6) Outline the major steps involved in the application of the Box-

Jenkins approach to forecasting.



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-305

M.A. (Part II) (Third Semester) EXAMINATION, 2011

ECONOMICS

(Optional Paper)

(EC-304 : Banking and Financial Institutions)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the structure and performance of Co-operative Banks

in India.

(2) Explain the nature and role of Financial System in

India.

2. Answer any one of the following questions in 500 words : [20]

(1) Evaluate critically the functions and performance of the Industrial

Development Bank of India (IDBI).

(2) Explain the functions and performance of International Monetary

Fund (I.M.F.).

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the role of State Bank of India.

P.T.O.
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(2) Explain the characteristics of Non-Banking Financial Institutes

(NBFIs).

(3) Explain the role of Asian Development Bank (ADB).

(4) State the types of Mutual Funds.

4. Write short notes on (any four) : [20]

(1) Need of Banking sector reforms after 1991

(2) Functions of small savings

(3) Working of State Finance Corporation (S.F.C.)

(4) Objectives of the Monetary Policy of R.B.I.

(5) Euro Currency Market

(6) Significance of Foreign Direct Investment (F.D.I.).

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(1) Hkkjrkrh« lgdkjh c°dkph jpuk o dkefxjh Li"V djk-

(2) Hkkjrh; foŸkh; iz.kk«hps Lo:i o Hkwfedk Li"V djk-

2. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(1) Hkkjrh; vkS|ksfxd fodkl c°dsph (IDBI) dk;sZ o dkefxjhps VhdkRed eqY;ekiu

djk-

(2) vkarjjk"V™h; uk.ksfu/khph (IMF) dk;sZ o dkefxjh Li"V djk-
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3. dks.kR;kgh nksu izðukaps mŸkj izR;sdh 250 ðkCnkar f«gk %  [20]

(1) Hkkjrh; LVsV c°dsph Hkwfedk Li"V djk-

(2) c°dsrj foŸkh; laLFksph oSfðk"VÓs Li"V djk-

(3) vkfðk;kbZ fodkl c°dsph Hkwfedk Li"V djk-

(4) ijLij fu/khps izdkj lkaxk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) %  [20]

(1) c°d {ks=krh« 1991 uarjP;k lq/kkj.kkaph vkoð;drk

(2) vYi cprhps dk;sZ

(3) jkT; foŸkh; egkeaMˇkph dk;Ziºrh

(4) fj>OgZ c°dsP;k p«u fo"k;d /kksj.kkph mfÌ"VÓs

(5) ;qjks p«u cktkj

(6) fonsðkh izR;{k xqaro.kwdhps (F.D.I.) egRo-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-306

M.A. (Part II) (Third Semester) EXAMINATION, 2011

ECONOMICS

(EC-305 : Welfare Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) What is Optimum Resource Allocation ? Explain the importance

of optimum resource allocation in welfare maximization.

(2) Make a comparison among Production Optimum, Consumption

Optimum and Social Optimum.

2. Answer any one of the following questions in 500 words : [20]

(1) What is Economic Welfare ? Explain Kaldor and Hicks’ con-

tributions in Welfare Economics.

(2) What are externalities ? Explain externalities of production

and consumption.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the assumption of uniform income.

P.T.O.
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(2) Explain contract curve.

(3) Explain Scitovsky’s double criterion.

(4) Distinguish between Private costs and Social costs.

4. Write short notes in 100 words each (any four) : [20]

(1) Utility function of Individuals

(2) Pareto optimality

(3) Community indifference curve

(4) Samuelson’s Utility Possibility curve

(5) External economies

(6) Marginal cost pricing.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkjs 500 ðkCnkar f«gk %  [20]

(1) lalk/kukaps i;kZIr forj.k Eg.kts dk; \ lalk/kukaP;k i;kZIr forj.kkps dY;k.k

egŸkehdj.kkrh« egRo Li"V djk-

(2) mRiknu i;kZIrhdj.k] miHkksx i;kZIrhdj.k vkf.k lkekftd i;kZIrhdj.k ;kaP;kr

rq«uk djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkjs f«gk %  [20]

(1) vkfFkZd dY;k.k Eg.kts dk; \ dWYMkWj vkf.k fgDl ;kaps vkfFkZd dY;k.kkrh«

;ksxnku Li"V djk-

(2) ck·rk Eg.kts dk; \ mRiknu vkf.k miHkksx ;krh« ck·rk Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) ,dleku mRiUu x`fgr Li"V djk-

(2) lafonk oÿ Li"V djk-

(3) fLdVksOgLdhpk nqgsjh fud"k Li"V djk-

(4) [kktxh [kpZ vkf.k lkekftd [kpZ ;kr Hksn djk-

4. izR;sdkoj 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) %  [20]

(1) O;fDraps mi;ksfxrk Q«u

(2) ijsVks i;kZIrrk

(3) lkekftd lelek/kku oÿ

(4) lWE;qv«lupk mi;ksfxrk ðkD;rk oÿ

(5) ck· cprh

(6) lhekUr [kpZ ewY;fu/kkZj.k-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-307

M.A. (Part II) (Third Semester) EXAMINATION, 2011

ECONOMICS

(EC-306 : Economics of Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

1. Answer the following questions in 500 words each (any one) :

[20]

(1) What is swap ? Explain the mechanism and types of

swaps.

(2) What is derivative ? Explain in detail the types of derivatives.

2. Answer the following questions in 500 words each (any one) : [20]

(1) What do you mean by Capital Asset Pricing ? Describe in

detail the validity of Capital Asset Pricing Model.

(2) Explain critically the Efficient Market Hypothesis.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the types of Financial Assets.

(2) Describe the regulations governing supply of securities.

(3) Explain the working of Future Market.

(4) Explain the classification of securities.

P.T.O.
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4. Write short notes on (any four) : [20]

(1) Financial Sector Participants

(2) Government Bonds

(3) Components of Stock Market

(4) Random Returns

(5) Speculators

(6) Stock options.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) vn«kcn« Eg.kts dk; \ foŸkh; ek«eŸksP;k vn«kcn«kph ;a=uk vkf.k izdkj

Li"V djk-

(2) fod«u Eg.kts dk; \ fod«ukps izdkj lfoLrj Li"V djk-

2. [kk«h« izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) HkkaMo«h ek«eŸkk ewY;kadu ;ko:u vki.kkl dk; vFkZcks/k gksrks \ HkkaMo«h

ek«eŸkk ewY;kadu izfrekukph fof/kxzk·rk lfoLrj o.kZu djk-

(2) dk;Z{ke cktkj x`fgrdkps fVdkRed Li"Vhdj.k |k-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) foŸkh; ek«eŸksps izdkj Li"V djk-
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(2) izfrHkwfrapk iwjoBk fu;eu dj.kkÚ;k fu;ekaps o.kZu djk-

(3) ok;ns cktkjkph dk;Ziºrh Li"V djk-

(4) izfrHkwfraps oxhZdj.k Li"V djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) %  [20]

(1) foŸkh; cktkjkrh« ?kVd

(2) ljdkjh jks[ks

(3) jks[ks cktkjkps ?kVd

(4) ;kn`fPNd ijrkok

(5) lÍsckt

(6) jks[ks fodYi-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-308

M.A. (Part II) (Third Semester) EXAMINATION, 2011

ECONOMICS

EC-307 : Economics of Environment

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw a neat diagram wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the role of Environmental Education in protecting the

environment.

(2) Explain the instruments used for controlling water and air

pollutions.

2. Answer any one of the following questions in 500 words : [20]

(1) What is Economic Development ? Explain the trade-off between

economic development and environment.

(2) What is environment ? Explain the types of environment.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Distinguish between human capital and physical capital.

(2) Explain the new model of pollution control.

P.T.O.
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(3) Explain the causes of air pollution.

(4) Discuss various types of renewable resources.

4. Write short notes on (any four) : [20]

(1) Mechanism for environment regulation

(2) Human capital

(3) Social forestry

(4) Causes of water pollution

(5) Contingent valuation method

(6) Uses of exhaustible resources.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mŸkjs usedh o eqÌslwn vlkohr-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkjs 500 ðkCnkar f«gk %  [20]

(1) i;kZoj.k laj{k.kkr i;kZoj.k fðk{k.kkph Hkwfedk Li"V djk-

(2) gok vkf.k t«iznq"k.k fu;a=uklkBh okij.;kr ;s.kkjh lalk/kus Li"V

djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkjs 500 ðkCnkar f«gk %  [20]

(1) vkfFkZd fodkl Eg.kts dk; \ vkFkhZd fodkl vkf.k i;kZoj.kkrh« leeqY;u

Li"V djk-

(2) i;kZoj.k Eg.kts dk; \ i;kZoj.kkps izdkj Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh nksu) %  [20]

(1) ekuoh HkkaMo« o oLrw:i HkkaMo«krh« Qjd Li"V djk-

(2) i;kZoj.k fu;a=.kkps uohu izfreku Li"V djk-

(3) gok iznq"k.kkph dkj.ks Li"V djk-

(4) iqu#Tthou lalk/kukP;k fofo/k izdkjkaph ppkZ djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) i;kZoj.k fu;e r;kj dj.;kph ;a=uk

(2) ekuoh HkkaMo«

(3) lkekthd ouhdj.k

(4) t« iznq"k.kkph dkj.ks

(5) vkdfLed eqY;kadu iºr

(6) ukðkor lalk/kukps mi;ksx-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-401

M.A. (Part II) (Fourth Semester) EXAMINATION, 2011

ECONOMICS

(EC-401 : Macro-Economic Analysis—II)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words each (any one) : [20]

(1) Explain in detail IS-LM model.

(2) Explain the post-Keynesian approach to Demand for

Money.

2. Answer the following questions in 500 words each (any one) : [20]

(1) Explain the interdependence of Monetary and Fiscal policies

to control the inflation.

(2) Explain the Samuelson-Hicks approach towards Business

cycle.

3. Answer the following questions in detail with 250 words each

(any two) : [20]

(1) Explain the Monetarist approach to Inflation.

(2) Explain the Philips curve analysis.

P.T.O.
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(3) Explain the Patinkin the Real Balance Effect.

(4) Discuss the extension of IS-LM model with labour market and

flexible prices.

4. Write short notes on (any four) : [20]

(1) Keynesian approach to Macro Economics

(2) Tobin’s modified Philips curve

(3) Friedman’s Modern Quantity Theory

(4) Natural rate of unemployment hypothesis

(5) Business cycle theory of Kaldor

(6) Classical approach to inflation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d R;k fBdk.kh lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ew« baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) IS-LM izfrœrh lfoLrj Li"V djk-

(2) dsUlksŸkj iSðkkP;k ekx.khP;k n`f"Vdksu Li"V djk-

2. [kk«h« izðukaph izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) %  [20]

(1) p«uok<hoj fu;a=.k izLFkkfir dj.;kP;k p«ufo"k;d o jktdks"kh; /kksj.kkps

ijLijko«afcRo Li"V djk-

(2) lWE;qv«lu o fgDl ;kaP;k O;kikjpÿfo"k;d n`f"Vdksu Li"V djk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar lfoLrj mŸkjs f«gk (dks.krkgh nksu) % 20]

(1) p«uok< fo"k;d eqÊkoknh n`f"Vdksu Li"V djk-

(2) fQf«Il oÿ foð«s"k.k Li"V djk-

(3) iWfVufdupk okLro fðk«dh ifj.kke Li"V djk-

(4) IS-LM izfrekukP;k foLrkjkph Jecktkj o fdaerikrˇhrh« «ofpdrk ;k

fo"k;h ppkZ djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) dsUlpk lexz«{kh vFkZðkkL=kpk n`f"Vdksu

(2) VkWfcu ;kapk lq/kkfjr fQf«Il oÿ

(3) f›Meupk vk/kqfud la[;keku flºkar

(4) csdkjhP;k uSlfxZd njkps x`fgrd

(5) dWYMkWjpk O;kikj pÿkpk flºkar

(6) p«uok<hpk ijaijkxr n`f"Vdksu-



Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-402

M.A. (Part II) (Fourth Semester) EXAMINATION, 2011

ECONOMICS

(EC-402 : Economics of Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the term ‘Balanced Growth Approach’. Critically examine

the ‘Big-Push Theory’.

(2) Explain in detail the ‘Theory of Demographic Transition’.

2. Answer any one of the following in 500 words : [20]

(1) Explain in detail the static and dynamic gains from

trade.

(2) Explain in detail the role of fiscal policy in developing

countries.

3. Answer the following questions in 250 words each (any two) : [20]

(1) ‘‘Infrastructural Development is now an essential element of

Economic Development.’’ Comment.

P.T.O.
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(2) Explain the role of MNCs in developing countries.

(3) What are the effects of globalization on agricultural growth

of Developing countries ?

(4) Explain Prebisch-Singer theory.

4. Write short notes in 100 words each (any four) : [20]

(1) Role of F.D.I.

(2) New technology and agricultural development

(3) Absolute and Relative Poverty

(4) Social Dualism

(5) Problems of borrowing

(6) Efficiency of small scale production.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr-

1. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) %  [20]

(1) larw«hr o`ºh n`"Vhdks.k Li"V djk- izcˇ&pk«uk flºkarkps fVdkRed ifj{k.k

djk-

(2) ^«ksdla[;k laÿe.k flºkarkps lfoLrj Li"Vhdj.k djk-

2. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) %  [20]

(1) O;kikjkiklwuP;k fLFkfrðkh« o xrhfðk« «Hkkaps lfoLrj Li"Vhdj.k djk-

(2) fodluðkh« nsðkkar jkT;dksf"k; /kksj.kkph Hkqfedk lfoLrj Li"V djk-
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3. [kk«h« izðukaph 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) ^l|fLFkrhr vkfFkZd fodklkr ik;kHkwr lqfo/kkapk fodkl gk vkoð;d ?kVd

cu«k vkgs-** Hkk"; djk-

(2) fodluðkh« nsðkkar cgqjk"V™h; daiU;kpah Hkwfedk Li"V djk-

(3) fodluðkh« nsðkkar tkxfrdhdj.kkps œ"kh o`ºhoj dk; ifj.kke fnlwu ;sr

vkgsr \

(4) izsfcðk&flaxj flºkar Li"V djk-

4. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) ijfd; izR;{k xqaro.kwdhph Hkqfedk

(2) ufou ra=Kku vkf.k œ"kh fodkl

(3) fujis{k nkfjÊÓ vkf.k lkis{k nkfjÊÓ

(4) lkekftd f}n«okn

(5) dtZ leL;k

(6) «?kwmRiknu izek.kkph dk;Z{kerk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[3904]-403

M.A. (Part II) (Fourth Semester) EXAMINATION, 2011

ECONOMICS

EC-403 : International Economics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagram wherever necessary.

1. Answer the following questions in 500 words (any one) : [20]

(1) What is fixed exchange rate ? Discuss the merits and demerits

of fixed exchange rate.

(2) State and explain the comparative cost advantage theory of

International trade.

2. Answer the following questions in 500 words (any one) : [20]

(1) Explain the objectives and methods of exchange control.

(2) State and explain the objectives and functions of World Bank.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the causes of disequilibrium in the balance of payments.

(2) Describe the role of multinational corporations.
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(3) Explain the direction and composition of India’s foreign trade

since 2000.

(4) Examine critically the purchasing power parity theory.

4. Write short notes on (any four) : [20]

(1) India’s Import Poicy Since 2000

(2) Leontief Paradox

(3) Functios of I.M.F.

(4) Assumptions of Stoper-Samuelson’s theorem

(5) Effects of tariffs

(6) Components of Balance of payments.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh o eqÌslwn vlkohr

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh eqˇ baxzth izðuif=dk igk-

1. [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) fLFkj fofue; nj Eg.kts dk; \ fLFkj fofue;njkP;k xq.knks"kkaph ppkZ

djk-

(2) vkarjjk"V™h; O;kikjkpk rkS«fud mRiknu O;; flºkar lkaxk o Li"V djk-
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2. [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) fofue; fu;a=.kkph mÌh"Vs vkf.k iºrh Li"V djk-

(2) tkxfrd c°dsph mÌh"Vs vkf.k dk;sZ lkaxk o Li"V djk-

3. [kk«h« izðukaph 250 ðkCnkr mŸkjs f«gk (dks.krsgh nksu)% [20]

(1) O;ogkjrks«krh« vlarq«ukph dkjus Li"V djk-

(2) cgqjk"V™h; egkeaMˇkph Hkqfedk foðkn djk-

(3) HkkjrkP;k b- l- 2000 iklwuP;k ijdh; O;kikjkph jpuk o fnðkk Li"V djk-

(4) [kjsnh ðkDrh lerk flºkarkps fVdkRed ifj{k.k djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) Hkkjrkps b- l- 2000 iklwups vk;kr /kksj.k

(2) f«vkWfUVQ fojks/kkHkkl

(3) vkarjjk"V™h; uk.ks fu/khph dk;sZ

(4) LVkWij&lWE;qv«lu izes;kph x`ghrs

(5) izðkqYdkps ifj.kke

(6) O;ogkjrks«krh« ?kVd-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3
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M.A. (Part II) (Fourth Semester) EXAMINATION, 2011

ECONOMICS

EC-405 : History of Modern Economic Analysis

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Critically explain the theory of Value by Paul Samuelson.

(2) Explain fully the contribution by Meade in International Trade.

2. Answer any one of the following questions in 500 words : [20]

(1) What is the main contribution by Paul Krugman for understanding

the concept of ‘globalization’ ?

(2) Outline the topic of Welfare Economics by Amartya Sen.

3. Answer any two of the following questions in 250 words each : [20]

(1) Explain the Game Theory.

(2) How is Tobin contributed in Macro-Economics by stating Portfolio

theory ?
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(3) Explain Myrdal’s theory of poverty.

(4) Explain the importance of Industrial Economics by Stigler.

4. Write short notes on any four : [20]

(1) Impossibility theorem by Arrow;

(2) Quantity Theory of Money—Friedman;

(3) Revealed preference theory;

(4) Differences between Ohlin and Ricardo;

(5) Modigliani on Keynes;

(6) Financial crisis in 1997—Krugman.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMok-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs usedh vkf.k eqÌslwn vlkohr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(1) ikW« lWE;q«luus ekaM«sY;k ewY; flºkUrkps ewY;ekiu djk-

(2) vkarjjk"V™h; O;kikj fo"k;krh« ehMpk lgHkkx Li"V djk-

2. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(1) tkxfrdhdj.kkph ladYiuk letkowu lkax.;krh« ikW« ÿwwxeupk lgHkkx dk;

gksrk \

(2) veR;Z lsu ;kauh dY;k.kkps vFkZðkkL= ;kckcr fopkj Li"V djk-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 250 ðkCnkr mŸkjs f«gk % [20]

(1) |wr flºkUr lkaxk-

(2) nLrkost flºkUrk}kjs Vksfcu ;kauh lexz«{kh vFkZðkkL= dls ekaM«s \

(3) fenkZyus ekaM«s«k nkfjÊÓkpk flºkUr Li"V djk-

(4) fLVX«jus lkafxr«s«s m|ksxkP;k vFkZðkkL=kps egRo lkaxk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) vWjkspk vðkD;rk flºkUr-

(2) ›hMeuP;k p«ula[;keku flºkUr-

(3) vfHkO;Drh ilarh flºkar-

(4) vksgf«u o fjdkMksZP;k flºkUrkph erfHkUurk-

(5) eksfnfX«vkuhus dsUl«k fn«s«k nqtksjk-

(6) ÿwxeuus ekaM«s«h 1997P;k vkfFkZd vfj"Vkaekxph dkj.ks-


